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Happy Thursday, September 29th! DIViSiOn
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Do Now: Your desk
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(' —6x° — 3242 +150x +175) = (x+5)  25€!
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Sep 28-9:50 PM

The only ime you cannot use synthetic division...

(x +2x—7)+()@+ 6)

Sep 29-10:31 AM
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GCF
The crazy thing is... Long abc

Short abc

We are still factoring!

Sum of cubes
Dift of cubes
Diff of squares
Long Division

Synthetic Division|

Sep 29-7:33 AM

Let's think back to factor trees:
(\L+53(X’5\ (%) (V)
(x* —6x’ —=32x7 +150x +175)
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How do you know which number to "try" in

synthetic division?
W%ﬂ*”’

RATIONAL ROOT THEOREM

<evos
S uhomss

Sep 29-11:13 AM

Factoring an nth degree polynomial is tough!

=ax"+a_x"" +...+ax+a,

But the fact(%n and aén

help us factor P(x) and ultimately solve
the equation!

Ratlonal Root Theorem

B(s(-)pmust be mVandard form k\nth integer

coefficients!
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Ex 1. Finding all possible rational roots

Q- 1+2+S D — 7 + 2x: 0 B
& A ~ (PG
leading Coefficient constant
1,9, -& 5,1,-5-1

Only possible rational roots are :/) -/ 5,-5,

factors of constant
factors of lead coefficient

T o+ I 4 &
—\)“5115\-61

OO

Find the rational root (does 1t make the polynomial
equal zero?)!

Graphing Calculator - Fasy!

By hand - takes more time

repeat for each possible rational root.

Sep 26-12:02 PM

September 29, 2016

Sep 29-10:58 AM
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What are the rational

P(x) =Bk’ +7x* + 6x

roots?

§|

Only possible rational roots are :

|factors of constantl

factors of lead coefficient

Sep 26-3:37 PM

form!! \//_\

3y’

3 4 oS

Always make sure the polynomual 1s 1n standard

2x+5=0

4+

Sep 29-7:40 AM
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Using the Rational Root Theorem

What are the rational roots of
P(x)=15x" -32x* +3x+2

factors of constant
factors of lead coefficient

Sep 26-3:39 PM

Exit Slip:

What are the possible rational roots of:

Sx* +6x" =2x+1=0

Homework: On the back of notes

Sep 26-3:40 PM
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